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1 ������������

���� α �������������������� 1����������

����� {
f(x) = xn + an−1x

n−1 + · · · + a1x + a0,

�	 an−1, · · · , a1, a0 ���

�� f(α) = 0��������
�������������� 1� f(x) � ��

Mα(x) ������� α ����������α =
√

2 ��	�
√

2
2 − 2 = 0���

M√
2(x) = x2 − 2.

�� 1.1 � Mα(x) ����� α �������

(1) Mα(x) ���������

(2) ������� f(x) ��

f(α) = 0

� Mα(x) �� f(x)�

����

(1) 
�
����� Mα(x) ����������

Mα(x) = g(x)h(x)

�	 g(x), h(x) ��������

Mα(α) = g(α)h(α) = 0 ⇒ g(α) = 0 � h(α) = 0.

�� Mα(x) �������������	� Mα(x) ���������

(2) � f(x) � Mα(x) ������ r(x)��� q(x)������

f(x) = Mα(x)q(x) + r(x),

�	 deg r(x) < deg Mα(x) �� r(x) ����������

0 = f(α) = Mα(α)q(α) + r(α) ⇒ r(α) = 0
⇒ r(x) = 0 ������
⇒ Mα(x) | f(x).

�

�� 1.1 ����

α = 3
√

4 − 3
√

2.

�� α ���������	����� Mα(x)�
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�����

a3 − b3 = (a − b)(a2 + ab + b2)

��
3
√

4
3 − 3

√
2
3

= ( 3
√

4 − 3
√

2)
((

3
√

4 − 3
√

2
)2

+ 3 3
√

4 · 3
√

2
)

.

	� α ����

x3 + 6x − 2 = 0

����������	�������� ?? ������
���� x3 + 6x − 2
���������������

Mα(x) = x3 + 6x − 2.

�
�

r = cos
2π
7

+ i sin
2π
7

.

��������

r7 = 1 ⇒ (r − 1)(r6 + r5 + r4 + r3 + r2 + r + 1) = 0.

	� r �= 1���

r6 + r5 + r4 + r3 + r2 + r + 1 = 0.

� ⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

α = r + r6 = 2cos
2π
7

,

β = r2 + r5 = 2cos
4π
7

,

γ = r3 + r4 = 2cos
6π
7

,

p = r + r2 + r4,

q = r3 + r5 + r6.

�� 1.2 �
������

(1) �	��� α, β, γ ����������

(2) 	 M2 cos 2π
7

(x)�

(3) �	��� p, q ������������

(4) [1963 IMO] ��� {
cos π

7 − cos 2π
7 + cos 3π

7 = 1
2 ,

sin 2π
7 + sin 4π

7 − sin 6π
7 =

√
7

2 .
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����(1) 	�

α + β + γ = r6 + r5 + r4 + r3 + r2 + r = −1,

αβ + βγ + γα = 2(r6 + r5 + r4 + r3 + r2 + r) = −2,

αβγ = r6 + r5 + r4 + r3 + r2 + r + 2 = 1,

�������� x3 + x2 − 2x − 1 = 0�

(2) 	� x3 + x2 − 2x − 1 ����������

M2 cos 2π
7

(x) = x3 + x2 − 2x − 1.

(3) 	�

p + q = r6 + r5 + r4 + r3 + r2 + r = −1,

pq = r6 + r5 + r4 + r3 + r2 + r + 3 = 2,

�������� x2 + x + 2 = 0�

(4) � x2 + x + 2 = 0 �������

{p, q} =

{
−1 +

√
7i

2
,
−1 −√

7i
2

}
.

	�

p = r + r2 + r4

=
(

cos
2π
7

+ cos
4π
7

+ cos
8π
7

)
+

(
sin

2π
7

+ sin
4π
7

+ sin
8π
7

)
i

= −
(

cos
π

7
− cos

2π
7

+ cos
3π
7

)
+

(
sin

2π
7

+ sin
4π
7

− sin
6π
7

)
i

=
−1
2

+
√

7
2

i,

�� (4) �
� �

�� 1.1 �

(1) 	 M√
3+

√
5(x)�

(2) ���
√

3 +
√

5 ����

anxn + an−1x
n−1 + · · · + a1x + a0 = 0

������	 an, an−1, · · · , a0 �������

11 | (a0 + a1 + · · · + an−1 + an).

3



�� 1.2 � α = cos 20◦+i sin 20◦��� α���������	�����Mα(x)�

�� 1.3 �	�����

x3 − 3x + 1 = 0

���

��	��

�����
��������������� 2 	����
����
√

2 	��
����Ǳ������������������	�
������
�
��

�����������������

���

�

r = cos
2π
17

+ i sin
2π
17

�� {
α = r + r2 + r4 + r8 + r9 + r13 + r15 + r16,

β = r3 + r5 + r6 + r7 + r10 + r11 + r12 + r14.

(1) �	� α, β ������������

(2) �	 α, β ���

(3) �	 α1, α2 ����	 {
α1 = r + r4 + r13 + r16,

α2 = r2 + r8 + r9 + r15.

(4) �	 β1, β2 ����	 {
β1 = r3 + r5 + r12 + r14,

β2 = r6 + r7 + r10 + r11.

(5) �	 x = r + r16 = 2cos 2π
17
���
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���������������

2 cos
2π
17

‖

−1+
√

17+
√

34−2
√

17
8

+

√
68+12

√
17− 16

√
34+2

√
17+2(−1+

√
17)

√
34−2

√
17

8
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�����	�����	�����������������������
�

����		���������	�������
�� 	���������

����!
��"������
����"�������������� �

�������������������������	#��
�����$�

�
������������ α ���������� α ���������%

�� 2 ����$��	��

3
√

2, 5
√

3, cos 20◦ + i sin 20◦, cos
2π
7

+ i sin
2π
7

���������������� cos 20◦ + i sin 20◦ �������������

 60◦ ������&�����
�������'�������&
����

����������
������������&�(������
���

$�
������� n � 3 ������ n◦ 
���������
���9 �

�����
�����&��� �
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